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= 1 108, 802, 829
JE T
= 1 40, 521, 462
BEREE T
m3 9, 500 39, 874, 650
B 1 4. 0omPd |
m3 9, 500 327.5 3,111, 250
R %y
m3 9, 400 3,911 36, 763, 400
FERIGE: 3N
= 1 646, 812
EHFETE (3% 1358) T T A ] o M B35 K fi
m2 1, 590 406. 8 646, 812
R
= 1 2, 682, 330
AT
= 1 2, 682, 330
% Lkt JE2em % AIRAT T 1000m2LL_E
m2 1, 590 1, 687 2, 682, 330
[
= 1 1,173, 600
TAT7 V%S T
= 1 1,173, 600
I JE A (i - BT ) 159v%37 C-40 {1 Y & 250mm
m2 815 1,440 1,173, 600
Pk A& L
= 1 2,295, 270
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EE LT
= 1 85, 526
PR D b 8m3
= 1 1, 885
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= 1 11,112
MREL m3
= 1 11,977
MREL 20m3
= 1 52, 060
LR IE 22m2
= 1 8, 492
LI
= 1 1, 500, 655
7" VA NURLRI T US1-B300-H300
m 79. 8, 820 701, 190
7" VA NURLRI T US3-B300-H300
m 44. 11, 949 535, 315
5 US3-B300/H
bie 90 2,935 264, 150
AR 2 E- T
= 1 126, 834
BUGFT B AE Kt SM-B500-L500-H600 2/71)-}2
&0 1 48, 807 48, 807
BUGFT B AE Kt SM-B800-L800-H800 1//1-}2
&0 1 78, 027 78, 027
HEAKT
= 1 582, 255
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&0 1 3, 382 3,382
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= 1 50, 973, 337
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(7=t =)
m 9 149, 731 1, 347, 579
15 =5 At HHIE#o b M4, 18m AT RS B 3m
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m 3 110, 747 332, 241
S HL MR ¢ 355.6X6.4 FIIAFES. 5
%N 123 77, 568 9, 540, 864
B2 1 B1600 X H1000 X L3000 2/7)-}2
H 1 214, 693 214, 693
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= 1 1,182, 097
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TR T
= 1 59, 892
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H 1 59, 892 59, 892
WA v A T
= 1 4,818, 637
BT (L)
= 1 4,818, 637
R f4FEP ¢ 50 X 275
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H67E
m 10 13,162 131, 620
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IV 900X 900X 1300 ££Z% (¢ 600 T-2
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&5 2 236, 592 473, 184
IV 12001200 X 1300 #£2 (¢ 600 T
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&0 2 673,471 1, 346, 942
AN 1200 X 600 X 900 #kZ (1200 X600
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= 1 108, 802, 829
BTl TE:
= 1 12,968, 377
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= 1 2,110, 561
TR
= 1 1,012,918
T RR A Sy FRAR ST A B Lzl
= 1 1,012,918
Htre m
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JH [ 9t R B E AR Y
= 1 50, 829
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= 1 1,033,027
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= 1 36, 482, 226
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